Week 9, Day 4 Use factors to multiply

Each day covers one maths topic. It should take you about 1 hour or just a little more.

- Start by reading through the Learning Reminders. 1. They come from our *PowerPoint* slides. 2 2.1 2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 Sketch a line from 2.3 to 2.4. Write a number that goes between 2.3 and 2.4.
- Tackle the questions on the Practice Sheet. 2. There might be a choice of either Mild (easier) or Hot (harder)! Check the answers.

3. Finding it tricky? That's OK... have a go with a grown-up at A Bit Stuck?

Think you've cracked it? Whizzed through the Practice Sheets? 4. Have a go at the Investigation...







Learning Reminders



Learning Reminders



Practice Sheet for All Using factors 1. Write all the pairs of factors of 12. Choose a pair to help you to work out 12×31 . 2. Write all the pairs of factors of 16. Choose a pair to help you to work out 16×25 . 3. Write all the pairs of factors of 30. Choose a pair to help you to work out 30×42 . 4. Write all the pairs of factors of 18. Choose a pair to help you to work out 18×31 . 5. Use factor pairs to quickly find 6×123 . HOT! Now have a go at these two challenges...! Challenge 1 Choose 3 of the questions and for each one show how you can use a second pair of factors to find and check the answer. Challenge 2 1. Kristina says '1005 must be a multiple of 15 because it is a multiple of 5 and a multiple of 3.' Do you agree? 2. If you do decide that 1005 is a multiple of 15, use factor pairs and inverse operations to say how many 15s it is. Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton © Hamilton Trust

Using	g factors
1.	1 and 12, 2 and 6, 3 and 4 12 x 31 3 x 31 = 93, 4 x 93 = 372
2.	1 and 16, 2 and 8, 4 and 4 16 x 25 4 x 25 = 100, 100 x 4 = 400
3.	1 and 30, 2 and 15, 3 and 10, 5 and 6 30 x 42 3 x 42 = 126, 126 x 10 = 1260
4.	1 and 18, 2 and 9, 3 and 6 18 x 31 6 x 31 = 186, 186 x 3 = 558 or 31 x 3 x 3 x 2 = 93 x 3 x 2 = 279 x 2 = 558
5.	123 x 6 = 123 x 3 x 2 = 369 x 2 = (370 x 2) - 2 = 740 - 2 = 738

1. 12 x 31 2. 16 x 25 3. 30 x 42 4. 18 x 31

5. There isn't a second pair of factors which would help to find and check this answer.

Challenge 2

- 1. Yes, multiples of 3 which are also multiples of 5 are all multiples of 15, e.g. 15, 30, 45, but not 12, 18 (multiples of 3) or 10, 25 (multiples of 5).
- 2. 1005 ÷ 15 is the same as 1005 ÷ 5 ÷ 3. 1005 ÷ 5 = 201; 201 ÷ 3 = 67, so, 1005 ÷ 15 = 67

 $2 \times 31 = 62, 6 \times 62 = 372$

2 x 25 = 50, 8 x 50 = 400

2 x 42 = 84, 15 x 84 = 1260

2 x 31 = 62, 9 x 62 = 558

© Hamilton Trust

Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton

A Bit Stuck? Array or disarray

Work in pairs

Things you will need:

- 50 counters
- A pencil

What to do:

16, 40, 12, 15, 25, 41, 48, 36, 50

40

8×5

 $4 \times 10 = 40$

- Choose a number. Take this number of counters. Arrange the counters into an array (rectangle). Write the matching multiplication.
- Now rearrange them into as many different arrays as you can.

Write the matching multiplication each time.

- Score one point for each multiplication you write.
- Choose another number and do the same.
 Try to score as many points as you can.
- Carry on choosing different numbers and making as many arrays as you can.
 Write the matching multiplication each time.
- Which numbers do you think will score lots of points?
 Which number do you think won't score many points?

S-t-r-e-t-c-h:

Find the number between 40 and 50 with the greatest number of factors, i.e. the greatest number of possible arrays.

Learning outcomes:

© Hamilton Trust

- I can make different arrays for a given number and write the matching multiplications.
- I understand that multiplication works both ways, e.g. $4 \times 6 = 6 \times 4$.
- I am beginning to identify pairs of factors.

Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton

۲	+ ?	= X	Cm³	1/2 ÷	£	. ⅓	>	m²	* 9	κ <	5∕6	-	ст	? *	÷	;
						In	vest	iga	tion	1						
						R	ace	to i	200							
	1.	 Player 1 chooses and crosses off one of the green numbers from the game board: 														
		9		2	3		F		7	0	0	10				
				2	3	4	5	0	/	0	¥ 10	10				
			- 11	12	13	14	15	10	17	10	19	20				
			21	22	23	24	25	20	27	28	29	30				
			31	32	33	54	35	30	37	38	39	40				
			41	42	43	44	45	40	4/	48	49	50				
			51	52	53	54	55	50	57	58	59	60				
		Write d	lown all	the n	umber	rs that	your			/						
		Finally,	add to	gether	all of	those	numk	pers	C						<u></u>	
		to cred	ite a to	actors	sum .					18		1. 0				_
		This nur	This number is player 1's score for that round. Player 2 takes a turn. The winner is the first player to reach a							<u>is a</u>	<u>multip</u> 8. 2. 9	. 3. 6				
	2.	Player 2 The wir								1+	18 + 2	2 + 9 -	+3+	6		
		total o If both	f 200! /all thre	e plav	ers re	ach 20	00 in 1	the	\sim	= <u>39</u>	2					
		same ro closest	ound, th to 200	ne winr so be	ner is t caref	he plo ful whi	ayer ich		C							
		numbei	r you pi	ck as t	the ga	ime ne	ears its	s end.								
		How mi	ight you	u keep	track	of pe	ople's	score	s?							
	3.	Will the	bigges	t num	ber alı	ways h	nave t	he hig	hest 'i	factor	sum'?					
			VVV	11												
	The second	Challe	enge	144											\sum	
	V +	Vrite some	ething y	ou not	tice at	bout t	he gre	y num	bers. I	Do you	1 think	it wo	uld b	e helpfi	IL	
			ese nun		n nie (гуріа	iii you		J.						
	© Hamilt	ton Trust		Explo	re more	e Hami	ton Tr	ust Lea	rning N	/ laterial	ls at <mark>h</mark> t	tps://v	wrht.o	rg.uk/hai	nilton	